
Back Canes & Adjustable Angle Back Hardware



Back Canes & Adjustable Angle Back Hardware
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1052784-NLA NLA - Back Cane w/ Hardware, 10 Degree Bend -

Right/Left (16" H)
1 11 A

1052785-NLA NLA - Back Cane w/ Hardware, 10 Degree Bend -
Right/Left (18" H)

1 11 A
1052786-NLA NLA - Back Cane w/ Hardware, 10 Degree Bend -

Right/Left (20" H)
1 11 A

1044924-NLA NLA - Back Cane w/ Hardware, 10 Degree Bend -
Right/Left  (20" H)

1 11 B
1027848 Back Cane w/ Hardware, 10 Degree Bend -

Right/Left (14-18" H) 
1 11 C

1044031-NLA NLA - Back Cane w/ Hardware, Straight w/ Push
Handle (14-18" and 16-20" H)

1 11 D
NLA - Back Cane, Straight w/ Push Handle 1 1
Grip, Foam (8") 1 1
Screw, Socket Button Head (1/4-20 x 1-1/4") 1 1
Locknut (1/4-20) 1 1

1006229 Grip, Foam (8") 1 12
1027097 Plug Button, Black (3/4") 1 13
1008432 Screw, Socket Button Head (1/4-20 x 1-1/4") 1 14
1025195 Locknut (1/4-20) 1 15

1042975-NLA NLA - Cane, Back, 10 Degree Bend (20" High) 1 16 B
1042370-NLA NLA - Back Cane, Straight w/ Push Handle 1 16 E

1026295 Kit, Back Cane Hardware (Pair) 2 1F,G
1127078-NLA NLA - Kit, Adjustable Angle Back Tubes with

Hardware
2 17 H,I

8881063914-NL
A

NLA - Bracket, Adjustable Angle Back Tube, Color 1 28 I
60275X000 Locknut (1/4-20) 1 49

16348X009-NLA NLA - Washer, Steel (3/16 x  9/16 x 1/16") 1 1210
1127072-NLA NLA - Plug Button (1") 1 111
1013046-NLA NLA - Screw, Hex Head  (1/4-20 x 1-3/4") 1 212

A - Non-Adjustable Back (Before 6/95)  
B - Non-Adjustable Back (After 5/95)  
C - Adjustable Back Height 14 - 18".   
D - Adjustable Back Height 14 - 18" and 16" - 20".  
E - No Longer Available as a service part. For Chairs manufactured before 10/6/95, order 1044031 (2) Back Cane.  
F - Kit includes items 1 - 4 (Pair).  
G - Not Shown in the illustration.  
H - Kit Includes items 8 - 12, enough for both sides.   
I - Specify frame finish when ordering, please use Configurator Button to select this item.  

NOTE:

 


